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Example 24.2. Determine if the sequence is a geometric or
arithmetic sequence, or neither or both. If it is a geometric or

arithmeti(): sequence, then find the general formula. )
a) 3‘,)6:'112‘,;24): ;18, . Geovebvic Sequence a,.—}, =2
b) 100550, 25,125, ... Geomedete a-w00,c=% B
€) 700, =70,7,—0.7,0.07, ... Geeredeic A= Too, ez - 3o —
d) 3°4716556, ... Mdeth., Nd Geo. I(an=700 (%) 310, 124
) 31071724, .. Avithnctic A J:?/\ 33 &) bGeovetvic 7 (orvomwidis:
£) —8,—8,—8,—8,5, . é 12 2333
g) n = (7) C’mﬂ*"( I -
)3
h) a,, = n? 0
. £ =3,-3 -3 ~3-3. aL
._5) a"-’(-;’) G"""'— 2},:/,%:{ , =1 Y'S HS_‘(roN":‘
a- 3y =7 Gnare” @iy
a)s (7 x‘ %:' M_"i“i Co™von Jcmw J-TO
1
3y -3 aC . On=a,+d(-)= -3 +o(a-) ==
a, - -3;) -
*
W) ez
a,=1* =
b N
ax,=> F
G2 ° Y
= - \
A') o i f 5 ':‘\, C_'CGM‘YI‘ . ?






Example 24.3. Find the general formula of a geometric sequence
with the given property

a)r = 4,and a5 = 6400

b)a, = é) and a4 = 7%

¢) a5 = 216, a7 = 24, and r is positive
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C> ) as = 216, a7 = 24, and r is positive
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Example 24.4. Consider the geometric sequence a,, = 8 - 51, that
is the sequence: a:3
= S
8,40, 200, 1000, 5000, 25000, 125000, . . .
Find the sum of the first 6 terms of this sequence ” - (’

8 4+ 40 + 200 + 1000 4 5000 + 25000 = 31248
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Example 24.

6. Find the value of the geometric series.

a) Find the sum Y"%_, a,, for the geometric sequence a,, = 10 - 3"~

b) Determine the value of the geometric series: 377 _, (- 5)1«

1

¢) Find the sum of the first 12 terms of the geometric sequence

a) a,
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Example 24.7. Consider the geometric sequence 4 J _,;’ a.:
0(% Q w*
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What is the initial term? What is the common ratio? a w- J"—)
Let’s try adding up some of the terms. Try this by hand, and by
using the formula for finite geometric series. What happens if we
add up ALL the terms?
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Example 24.10. Find the value of the infinite geometric series. 2 ’
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Example 24.11. Consider the real number given by 0.555555. . ..
Rewrite this number as an infinite geometric series. Can you

figure out what fraction it is equal to?

0.668SCC . .
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